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QUESTION 1

A new schema is defined. This error appears when the schema is saved. What is the reason for this error? 

A. The location element is incorrect. 

B. The compute-string is incorrect. 

C. The type of the zip code attribute is incorrect. 

D. The prospect does not have a zip code. 
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Correct Answer: C 

 

QUESTION 2

Which assessment should you use to hide a container in a form when gender is equal to a value of 1? 

A. B. C. D. 

Correct Answer: D 

 

 

QUESTION 3

There are two distinct recipient folders for France and Germany. There are two operator groups for France and
Germany that are assigned to each respective folder. A new regional manager joins the company and needs to be able
to see both German and French recipients. 

How should you setup the rights of that user? 
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A. Assign the new operator to the Administrator group. 

B. Assign the new operator to both French and German folders. 

C. Assign the new operator to both French operator and the German operator group. 

D. Assign the new operator to a new operator that has rights on both folders. 

Correct Answer: A 

 

 

QUESTION 4

A user receives an Adobe Campaign email notification where they are informed that approval is needed for 

a certain delivery. The user logs into the Adobe Campaign console and wants to approve the mentioned 

delivery via the delivery dashboard but the approval link is NOT displayed there. 

What would cause the approval link to NOT be shown? 

A. The delivery has already been approved by another operator. 

B. The user needs to belong to the "Delivery operators" group in order to see the link. 

C. Only the link provided in the email notification can be used to approve the delivery. 

D. The content of the delivery needs to be approved by another operator first. 

Correct Answer: A 

 

 

QUESTION 5

How should you organize the creation of the following tasks? 

A. Campaign – Program – Plan - Delivery 

B. Delivery – Campaign – Plan – Program 

C. Plan – Program – Campaign – Delivery 

D. Program – Delivery – Plan – Campaign 

Correct Answer: A 

Reference: https://docs.campaign.adobe.com/doc/AC6.1/en/CMP_Marketing_campaigns_Overview.html 
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